
Phone: 855-737-3672

Max. 126 [4.961]

3 [0.118]
25.4 [1.000]

12.2 [0.480]

39.7 [1.563]

19 [0.748]

M5 [0.197]

44
.4

 [1
.7

48
]

87 [3.425]

40 [1.575]

4-Ø6.7 [Ø0.264]

2-Ø6.4 [Ø0.252]

Latch Type Toggle ClampsLatch Type Toggle Clamps

Max. 78 [3.071]

4-Ø4.4 [0.173]

13
 [0

.5
12

]

2 [0.079]
M

ax
. 3

2.
5 

[1
.2

8]

26.2 [1.031]

15.9 [0.626]
20 [0.787]

10 [0.394]

5 [0.197]

13
 [0

.5
12

]

19
 [0

.7
48

]

28
.2

 [1
.1

1]

2-Ø4.4 [Ø0.173]

57 [2.244]

5.15 [0.203] 24 [0.945]

Model Holding  
Capacity Weight Accessories

N (lbf) Kg (lb.)

40240 1630 0.07 70005, 70010366.75 0.15

16100 (stainless steel) 1630  
366.75

0.07 
0.15 70010, 70100

40200       3180 0.225 70060, 70135715.5 0.50

16080 (stainless steel)    3180 
715.5

0.225 
0.50 70065, 70140

40140       9000 0.68 70035, 701152025 1.50

16020 (stainless steel) 9000 
2025

0.68 
1.50 70040, 70115

40240 & 16100

40200 & RH10R127

115 [4.528]
6-Ø 8.5 [Ø0.335]

54
.4

 [2
.1

42
]

30
 [1

.1
81

]

38
.1

 [1
.5

00
]

44
.6

 [1
.7

56
]

9.5 [0.374]
19.2 [0.756]

M8 [0.315]

Max. 177 [6.969]

52 [2.047]

60.3 [2.374]

41.3 [1.626]9.5 [0.374]
38.1 [1.500]

23
.2

 [0
.9

13
]

4 [0.157]

M
ax

. 7
7.

5 
[3

.0
51

]

40140& 16020

40240

40040

Latch Plate Sold Separately

11 12

Model Description
70005 M4*57 U-bolt Spindle Accessory
70100 Latch Plate Accessory
70010 M4*57-SS U-bolt Spindle Accessory
70060 M5*87 U-bolt Spindle Accessory
70135 M6*100 U-bolt Spindle Accessory
70065 M5*87-SS U-bolt Spindle Accessory
70140 Latch Plate Accessory
70035 M8*115 U-bolt Spindle Accessory
70115 Latch Plate Accessory
70040 M8*115-SS U-bolt Spindle Accessory

Model Description
70000 3/8-16*5.82 U-bolt Spindle Accessory
70125 3/8-16*8.66 U-bolt Spindle Accessory
70130 Latch Plate Accessory
70055 1/2-12*5.79 U-bolt Spindle Accessory

70130

Ø 12.7 [Ø0.5] 10.6 [0.417]

1/2”-12

M
ax

. 9
0 

[3
.5

43
]

Max. 195 [7.677]

55.6 [2.189]

28.6 [1.126]

27
.6

 [1
.0

87
]

4- Ø 10.3 [Ø0.406]

85.5 [3.366]

57.2 [2.252]

57.2 [2.252]

34.9 [1.374]4 - Ø 10.3 [Ø0.406]

79
.4

 [3
.1

26
]

57
.2

 [2
.2

52
]

147 [5.787]

74 [2.913]

57
.2

 [2
.2

52
]

79
.4

 [3
.1

26
]

70130
88.9 [3.5]

19 [0.748]

4-Ø 10.3 [Ø0.406]

Max .222 [8.74]

27
.6

 [1
.0

87
]

34.9 [1.374]

57.2 [2.252] 85.5 [3.366]

57.2 [2.252]

3/8”-16

M
ax

. 1
04

 [4
.0

94
]

4-Ø 10.3 [Ø0.406]

79
.4

 [3
.1

26
]

57
.2

 [2
.2

52
]

41
.4

 [1
.6

3]

79
.4

 [3
.1

26
]

148 [5.827]

56 [2.205]

Model Holding  
Capacity Weight Accessories

N (lbf) Kg (lb.)

40040 18,180 1.26 70000, 70125, 701304,090.5 2.78

40000       34,000 1.59 70130, 700557,650 3.51

 Steel with forged alloy steel base.


